10 Grammar L8 Answers

Lesson Conversation (Kanji Edition)
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Linking Adjectives

nw) zoltrioLeld

Sono jidosha wa (hayai/yasui) desu.
As for that automobile (fast/cheap) is.

1]

HRIAD 7/3—=hM2 (v H00) TTY,
Tanaka-san no apato wa (kirei/chikai) desu.
As for Mr. Tanaka’s apartment (clean/nearby) is.

I VWIEHA, THIZ W
BItRE RNU R Y

LETh, lE $45 HFIT L

P22, biot fFoTC, TAHAIHA, BD TARIZV=LETE R-oTCWET,

(I P7F0) TH, = ZOLYILeid FXCT PTVTT,
Sono jidosha wa hayakute yasui desu.
That automobile is fast and cheap.
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2

3

— HPIAD T/3—hlF ZFhVT H5H)VTT,
Tanaka-san no apato wa kirei de chikai desu.
Mr. Tanaka’s apartment is clean and nearby.

Brirelx (LIH/PILW) TY, — B¥irxid LIFA»T PILVTT,
Ototo wa (shizuka/yasashii) desu. Ototo wa shizuka de yasashii desu.
As for my younger brother (quiet/kind) is. My younger brother is quiet and kind.

ZOLANIYD  YxHviE (s BuLy) T,
Kono resutoran no ryori wa (karai/oishii) desu.
As for this restaurant’s food (lit., cooking) (spicy/delicious) is.

= ZDOLAMI D YiIHVid 6T BLLWTT,
Kono resutoran no ryori wa karakute oishii desu.
This restaurant’s food (lit., cooking) is spicy and delicious.

ZONRIE (BB SUVAN) TY, = ZO0NPIE 1 5B(T UVANTT,
Kono heya wa (akarui/hiroi) desu. Kono heya wa akarukute hiroi desu.
As for this room (bright/spacious) is. This room is bright and spacious.

ZOT—FIT (FFTWSEr0) T, — ZO7—F13 F39<KT  =HVWTT,
Kono kéki wa (mazui/takai) desu. Kono kéki wa mazukute takai desu.
As for this cake (unappetizing/expensive) is This cake is unappetizing and expensive.

ENDL 5Ly and ENL S

W) YOlbwn  XBWTT,

il

2

Dono kurai toi desu ka.
How far is it?

YOLHW JATE  BRNILED,
Dono kurai ringo o tabemashita ka.
How many apples did (you) eat?

YOL50 HWTTH,
Dono kurai nagai desu ka.
How long is it?




WoNFDIZ YOLbn TN 7I 7533 h, /

Ikkagetsu ni dono kurai gorufu ni ikimasu ka.
How often do (you) go golfing each month?

WoMTF2IZ gy L7 ATXFT0,

Ikkagetsu ni nan-kai gorufu ni ikimasu ka.
How many times a month do (you) go golfing?

Yolbw  Fo5THWELED,
Dono kurai matte imashita ka.
How long did (you) wait?

NEIE YOS5 DXWTED,
Kaze wa dono kurai tsuyoi desu ka.
How strong was the wind?

BN vs, TA
nnW) 88 (ZA) Iz LZkriz -%xF,

1]

Hachi-ji (goro) ni shigoto ni tsukimasu.
(D) arrive at work around 8.

VZH9x0 Frybld 20,000 24 (<HWY)
Kikoki no chiketto wa niman-en (gurai) kakarimasu.
The airplane ticket costs about 20,000 yen.

SWwhRAD 8RA (T3 BHAEIZ 1T3%7,
Rainen no hachi-gatsu (goro) Nihon ni ikimasu.
(I) am going to Japan around August of next year.

IO (T3) WENLWTT,
Kono (goro) isogashii desu.
(I) am busy around this time.

2HFM (CHV) mBIZ FTATHIT,

Ni-nen-kan (gurai) kyoto ni sunde imasu.
(I) have been living in Kyoto for about two years.

N—=T4—I1Z 20 A (<HWV) Rl
Patii ni nija-nin (gurai) kimashita.
About 20 people came to the party.
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6

Lb

)

Ion (TA) 1T hrnER HUFET,
Yokka (goro) ni kaigi ga arimasu.
There is a meeting around the 4th.

LN/ T, /RNSA S/ S/ Ly /I

nai / desu. / Kitamura-san / aitaku / shika / ni

— XA Ly HWECRWTT,
Kitamura-san ni shika aitaku nai desu.
(D) don’t want to see anyone but Ms. Kitamura.

30 /2 / R/ L/ BBEY/ Wil / TLE/ A/ FoT0WEEA

sanjupun / ga / ga / shika / o6zei / imashita / deshita / hito / matte imasen

— AN BBEVD WFELED, ZALwISA Ly FoTnFEHATLE

Hito ga 0zei ga imashita ga, sanjapun shika matte imasen deshita.
There are a lot of people, but (we) only waited 30 minutes.

A T&B 1ILUETH.]

“Mai-nichi hashirimasu ka."
“Do (you) run every day?”

2/ LY ERA S/ o/ L/ —AR —

ni / hashirimasen / yokka / shika / isshu-kan

B Tvwnwz, —#RMIC Jonlh ELUEFEA,]
“lie, isshu-kan ni yokka shika hashirimasen.”
“No, () only go running 4 days a week. (lit., [I] don't run except for 4 days a week.)”

Lor/ T/ RR/ATSERA /12 / "X/ 11
shika / de / Tokyo / ikimasen / ni / basu / wa
— BFITIZ NATLY TXFHA,

Tokyo ni wa basu de shika ikimasen.
(D go to Tokyo only by bus.

~/38M/ LU» /13 /1T3F-A / KRR/ TL
he / mikkakan / shika / wa / ikimasen / Osaka / deshita

— 3 BMIZ KRER~NLAD TE3IEATLA,
Mikkakan wa Osaka e shika ikimasen deshita.
(D) only went to Osaka for 3 days.

3OA/ TLE/ L/ BOWERA /A / D/ bEL / %

sanju-nin / deshita / shika / kaimasen / hon / no / watashi / o

— 30ALDY bHELDO AXZ EBWIHATLAE,
Sanju-nin shika watashi no hon o kaimasen deshita.
Only (lit., nobody but) 30 people bought (my) book.
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L /ATSERA / =&/ &/ T /12 /1

shika / ikimasen / Tokyo / kuruma / de / ni / wa

— BTId FREITLY TXFEA.
Kuruma de wa Kyoto ni shika ikimasen.
(I) went to Kyoto only by car.

WLEXA /) TY /B hb— ) §E
Yamada-san / ga / desu / dake / karé / suki
— LWHEIALT HL—n FEXTT,

Yamada-san dake karé ga suki desu.
Mr. Yamada likes curry.

=i/ ZoN/ e/ ix /) bl /) LEn /152 A / TF
dake / kono hito / to / wa / watashi / shitai / kekkon / desu
— b=l ZOAXET Jo5ZA LEEWTT,

Watashi wa kono hito to dake kekkon shitai desu.
(I) want to marry only this person.

X/ %/ LChWELE/ Bo®dhH / LT / EY
wa / o / shite imashita / natsu yasumi / shigoto / dake

= OrnFElrz, BOPFTAHAIT LIXETE LThFELKL,

Tsukaremashita. Natsu yasumi wa shigoto dake o shite imashita.
(I) am tired. (I) only worked this summer holiday. (I didn’t do anything else.)

IRV =3 BV ARG Sh LA -0 S QIR AT
dake / suki / kudasai / tabete / na
= FELET BENTUUEINY,

Suki na dake tabete kudasai.
Eat only what (you) like, please.

WRR /) % /) T/ VX2 /1 / >nnwEd /=i
basu / wo / de / ryoko / wa / tsukaimasu / dake
— DIHIEN EXH5WTYE, YIZIIHTIE NRETE SOhnET,

Hikoki ga kirai desu. Ryoko de wa basu dake o tsukaimasu.
(I) hate planes. For trips, (I) use only buses.

BIE/TT/ R/ v/ 0/ % /Y

omise / desu / mitai / naka / no / o / dake

-y BEWI€A, BED F%&% REWERTH,
Nani mo kaimasen. Omise no naka o mitai dake desu.
(I) am not going to buy anything. (I) only want to look inside the store.
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6] TULE/RE/Z®2/)TT/ D/ LelEn/ TFLE /BT /) %2 /) Lol

deshita / mita / wo / desu / ga / shukudai / terebi / dake / wo / shitakatta

— Lwl7EWwa LT3 n, TLeER R7EFEIFTLE,
Shukudai o shitakatta desu ga, terebi o mita dake deshita.
(D) didn’t want to do homework. (I) just watched TV.

~fY~fcV 9%

NV R Bl i ¥x F=2% (L7=Y)., LirAlz (T-7=Y)

Yasumi no nichi wa tokidoki tenisu o (shitari), toshokan ni (ittari) shimasu.
Sometimes (I) play tennis, go to the library and stuff like that on my day of}.

1] =03, MET 7—*% (R~7Y). Bbor (KRAEY) Ll
Kino, Kobe de kéki o (tabetari), ocha o (nondari) shimashita.
Yesterday, (1) ate cake, drank tea and stuff like that in Kobe.

(2] XYLiPAT A% (IAEY)., Tkt (BureY) LET
Toshokan de hon o (yondari) , tegami o (kaitari) shimasu.
At the library, (I) read books, write letters and stuff like that.

BEub

(3] HBT LelAz (¥sU), HAHT (BLWEY) LEVWTT,
Okinawa de shashin o (tottari), umi de (oyoidari) shitai desu.
In Okinawa, (I) want to take pictures, swim in the ocean and stuff like that.

4] 4B Jf3lx Fy—% (VWEY), IEE (OFEsY) LET
Kyo no yoru wa gita o (hiitari), uta o (utattari) shimasu.
Tonight, (I) am going to play guitar, sing songs and stuff like that.

5] #B BREO I (30RY), 2AXE GRAEY) LET
Mai-nichi Nihongo no uta o (kiitari), manga o (yondari) shimasu.
Every day, (1) listen to Japanese songs, read manga and stuff like that.

Lij_o

(6] Lwiolx b—ILE KT (To7=Y), "AXrd% (L7=Y) LET,

Shumatsu wa biiru o nomi ni (ittari), benky6 o (shitari) shimasu.
On weekends, (I) go drink beer, study and stuff like that.

Clauses

NW) X5 TAD BIVAZI(D ZIXIT dUFET, TOX-53TAIL 735 L

Kissaten ga yubinkyoku no soba ni arimasu. Sono kissaten ni ikimashita.
The coffee shop is by the post office. (I) went to that coffee shop.

= WIHIVAZI(D ZIFIT H5b  =X-5XTAIT fTxFL 7
Yubinkyoku no soba ni aru kissaten ni ikimashita.
() went to the coffee shop next to the post office.




HrzLIX kBET INnLz BRIl

Watashi wa Hokkaido de sakana o tabemashita. Sono sakana wa oishikatta desu.
I ate fish in Hokkaido. That fish was delicious.

— bELA BET BNEINLE BLILI-ETT,

Grammar L8 Answers

ZOINRLIT BN o=TT,

Watashi ga Hokkaido de tabeta sakana wa oishikatta desu.
The fish I ate in Hokkaido was delicious.

WAD IZhD ENWTT, bzl 2OVZIT FATWET,
le no niwa ga kirei desu. Watashi wa sono ie ni sunde imasu.
(The) house's garden is pretty. I live in that house.

— LD FTATHBEINZD IZhlI =h\WTT,

Watashi ga sunde iru ie no niwa ga kirei desu.
(The) garden of the house I live in is pretty.

VXA BAREN O LEFTY, VrXAIE bELO 2T W rE50nThIET,

Son-san wa Nihongo ga jozu desu. Son-san wa watashi no kaisha de hataraite imasu.
Ms. Son’s Japanese is really good. Ms. Son works at my company.

— BAED) LEFL VUIAE bELDO 4T 360 ThET,
Nihongo ga jozu na Son-san wa watashi no kaisha de hataraite imasu.
Ms. Son, whose Japanese is really good, works at my company.

IT—XAIE AT EXFLE, ZORIT BELANWTT,
Mira-san wa hon o kakimashita. Sono hon wa omoshiroi desu.

Mr. Miller wrote a book. That book is interesting.

— IT7—=XAN EVWERIET BBILAWTT,

Mira-san ga kaita hon wa omoshiroi desu.
The book Mr. Miller wrote is interesting.

BINIAET ZH5LE H»3IVET, ZDITHLIE REWTT,
Nishikawa-san wa boshi o kaburimasu. Sono boshi wa okii desu.
Mr. Nishikawa is wearing a hat. That hat is big.

— BIZAD MZBIFHLIEF RENWTH,
Nishikawa-san ga kaburu boshi wa 6kii desu.
The hat Mr. Nishikawa is wearing is big.

LT BOAL »20WEDR HYFELz, TOFEDOAIL RELIZT #HLIET,
Watashi wa otoko no hito to kaigi ga arimashita. Dono otoko no hito wa okina koe de hanashimasu.
I had a meeting with a man. That man speaks loudly.
— bLIT REQIZT FAFOAL HVEN HUFL/,

Watashi wa okina koe de hanasu otoko no hito to kaigi ga arimashita.

I had a meeting with a man who speaks loudly.
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JLPT-Style Questions

1] brlid x3rEs2E (8b-o7) R794% LTO0ET,
Watashi wa tomodachi kara (moratta) nekutai o shite imasu.
I am wearing the necktie (1) got from my friend.
1T £569 2 H5-57= 3 50 4 55T
morau moratta morai moratte

The correct answer is #2- &5 o7z .

Clauses need to be in the casual form. You can’t use the T -form. The speaker has the necktie
obviously, because he is wearing it, so we need to use the past tense.

Other Answers

¥ 59 - Using the non-past form would mean that the speaker’s friend is going to give the tie to
him. The speaker is wearing it though, so he had obviously received it already.

5\ - This is the noun form of ¥ 57 , which actually means ‘tip’ or ‘alms’ in Japanese, making
this not the best answer.

$ 55T - This is the T -form of ¥ 57 , which we can’t use at the end of a clause like this.

™)

#B 28 (CHV) BEREZ NAZIIHILIT

Mai-nichi ni-jikan (gurai) Nihongo o benky6 shimasu.

Every day, (1) practice Japanese for about two hours.

T Ly 2 <CHW 3 75 4 IZ
shika gurai goro ni

The correct answer is #2- 5.

To talk about approximate amounts for things like time, money or weight, we use 51U,

Other Answers

L2 —The L7 particle is used to exclude something from a negative sentence. The verb in this
sentence is not in the negative form, so we can’t use it here.

NWZHIZ0  FiZiE Fw)ilwIiIlhr HUIEA.
Reizoko no naka ni wa gyunyu shika arimasen.
There is nothing in the refrigerator except milk.

Z% -~ The T4 particle is very much like {5\, but it can only be used to talk about approximate
times.

LBEXAIE 68EZAIZ »2VUELT=,

Yamada-san wa roku-ji goro ni kaerimashita.
Mr. Yamada went back home around 6:00.
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|2 = The |Z particle is used to talk about the time or frequency something occurs.

18RI UVBTI3A%E RNFIL/

Ichi-ji ni hirugohan o tabemashita.
(I) ate lunch at 1:00.

B&IE 1008 (L2) dbUEEA,

Okane wa hyaku-en (shika) arimasen.
(I) only have 100 yen. (lit., As for money, there is only 100 yen.)

1T %Y 2 CHV 3 Ly 4 721

amari gurai shika dake

The correct answer is #3- LD .

The verb of the sentence is in negative form, so it would sound a little strange to use '5u» or 7217 .
The adverb $ %) is usually used to refer to the frequency you do something, so that leaves us with L 7.

Other Answers

$HF1) - The adverb HF 1) can be used to express the fact that you hardly do some activity.
BARZBE HEY NAZLIHILELEA,

Nihongo o amari benkyo shimasen.
(I) don’t study Japanese very much.

5 - To talk about approximate amounts for things like time, money or weight, we use 5.
Using it in the sentence above makes it sound a little strange, though.

B&ld 100 ( CHV ) HUIEA,

Okane wa hyaku-en (gurai) arimasen.
As for the money, (I) don’t have around 100 yen.

721} — The particle 7217 is similar in meaning to ‘only’ in English. Using it in the sentence above
doesn’t sound right, though.

B&ld 1008 (21 ) dUEHEA,

Okane wa hyaku-en (dake) arimasen.
As for the money, (I) don’t have only 100 yen.

D), ZORIIA % BuwFlLl, I, Rz (HiIF3) 7LELNTT,
Kino, kono nekutai o kaimashita. Kore wa, chichi ni (ageru) purezento desu.
Yesterday, (I) bought this necktie. This is the present (I) am giving to my father.

1 55657 2 59 3 Hifor= 4 HiF5

moratta morau agetta ageru

The correct answer is #4- HIF5 .

The speaker bought the necktie yesterday, and he obviously has it in his hands now because he uses

Z® and Z#. So, the speaker is going to give the necktie to his father. That makes #!7% the best
answer.
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Other Answers

¥ 557z - This is the past tense of the verb £ 59 (morau, to receive). If we use this here, it would
mean that the speaker received the necktie from his father, but in the previous sentence he said he
bought it.

$ 59 - This is the non-past tense of the verb 59 (morau, to receive). If we use this here, it would
sound like the speaker is going to receive the necktie from his father, but that can’t be the case
because the speaker is talking about it as if it is in his hand.

HIF>7= - This is the past tense of 115 (ageru, to give). If we use this here, it would mean that
the speaker has already given the necktie to his father, but that can’t be the case because the speaker
is talking about it as if it is in his hand.

5] #hx B0 (IFEFIE) TWELEI5ETT,
Sore o anata (ni dake wa) iitaku nakatta desu.
The only one (I) don’t want to tell that to is you.

1T X 2 12N 3 Fid 4 (272113
to dake wa ni dake ga dake mo ni dake wa

The correct answer is #4- [CT2lF1E .

All of the answers include the particle /217, so we need to look at the other particles attached to
them. We can’t use the 7' and ¥ particles here because it can seem too rude or direct to use the

~ J=\ auxiliary verb with, because in Japanese it is considered rude to presume what others want.
The ¥ particle, when used to link two nouns, is not normally used with =9 either. That leaves us
with 2721713 .

Other Answers

¥ 7Z1#13 - This is not a likely answer because we don’t normally use the ¥ particle, as a way of
linking two nouns, with the verb 59 (iu, to say). We should use the |Z particle to talk about who
we are saying something to.

12721 DY — The 7)Y particle is the subject marking particle. If we use this in the sentence above it
means that we are making the subject ‘you’, what is called the 2nd person in grammatical terms.

You cannot make statements about the 2nd person’s wants using ~ 7=\ .
7Z137% - The ¥ particle is used to mean ‘too’ or ‘also.” When you use the ¥ particle you are adding

to something previously stated or implied, usually in a previous sentence. That is not really the case
here.

(6] BRIAN (IEH0VTW3) &3 &R YIS
Nishimura-san ga (hataraite iru) kaisha wa Toky6 ni arimasu.
The company that Mr. Nishimura works at is in Tokyo.
1 37=6%FL1: 2 3763572 3 137=260WT 4 I7=60WTW5%
hatarakimashita hataraki na hataraite hataraite iru
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The correct answer is #4—- [3Tc5WLNTWN5S .

This is another question about the proper form. Clauses need to end with the casual form of a verb.
Answer 4 is the only verb in that form.

Other Answers

3725 %% L7z - This is the polite past form of (37/z5< (hataraku, to work). You can’t use the polite
form in a clause.

375 %7 - This is in the wrong form. {375 %X is the noun form of [37/=5¢ . It has the general
meaning of ‘work’ or ‘labor.’ But, since it is a noun, we shouldn’t use the 7% particle.

137-5\T — We cannot use the T -form in a clause like this.

RNLFWTT, »INIE S5EMLAY (REHATLRE),
Nemutai desu. Yabe wa go-jikan shika (nemasen deshita).
(I) am sleepy. Last night, (1) didn’t sleep except for 5 hours.

T ATWELE 2 Axd 3 AERATL 4 FEL:

nete imashita nemasu nemasen deshita nemashita

The correct answer is #3-RFEFHBATLT:.

When using the [ 7" particle, we need to use the negative form of the verb. Answer 3 is the only
answer with a verb in a negative form.

Other Answers

#a T\ FE L 7= - This is the past polite T\ % form of 3% (neru, to lie down). We can’t use the polite
form in a clause, so this is a wrong answer.

#¥aF ¥ - This is 425 (neru, to lie down) in polite form. We can’t use the polite form in a clause, so
this is the wrong answer.

#aF L /= - This is the polite past form of ¥a% (neru, to lie down). We can’t use the polite form in a
clause, so this is the wrong answer.

A ThLEE wo  E2rTET.
“Ashita wa itsu dekakemasu ka.”
“When are (you) going to go out tomorrow?”

B 188 (I5) MNMTET.]
“Hachi-ji (goro) dekakemasu.”
“(I) will leave around 8:00.”

1T 2 2 3 <HN 4 TAH
de dake gurai goro
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The correct answer is #4- 5 .

When talking about approximate times, we can use the Z 5 particle. This is different from the {5
\\ particle which is used for approximate amounts of things like money, time, or weight. The /Z|7}
particle cannot be used here either.

Other Answers

T - The T particle can be used to talk about when something ends. However, we are talking about
when something starts in the sentence above.

NWEX 58T BbUIT,
Kaigi wa go-ji de owarimasu.
The meeting finishes at 5.

=14 — The /=17 particle cannot be used with a time like this when it marks the start of an action.
We can use it to talk about things like days of the week we have to work or times a tour will be.

AL>8B72Z KRAHETT,

Getsuyobi dake yasumi no hi desu.
Only Monday is a holiday.

5 = To talk about approximate amounts for things like time, money or weight, we use 5.
However, it can't be used for points of time like 8:00.

(9] A T(Xolbv) LT HRaElizi )
“(Dono kurai) shigoto o yasumimashita ka.”
“How long are (you) off from work?”

B 6 HEICHWTT, ]
“Muika-kan gurai desu.”
“About 6 days.”

1T Xolsun 2 WD 3 19 4
dono kurai itsu nani naze

The correct answer is #1- EDL 5.

Looking at Speaker B’s answer, we know we are looking for a length of time. To ask about lengths of

time, we use ¥ {5\,

Other Answers

WD — We can use D to ask about when something happens.

ZOEIT WD BWIELED
Kono kuruma wa itsu kaimashita ka.
When did (you) buy this car?
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{q] — We can use {9 to ask ‘what.’
% BXFLED.

Nani o tabemashita ka
What did (you) eat?

724 — We can use L to ask ‘why.

xDHT B AR&HEILED,
Kino wa naze yasumimashita ka.
Why were (you) absent yesterday?

A TEh\nwTTHh, AL HREOBRIAN Wid Z£50%E  LILED.]
“Kirei desu ne. Anata to anata no otosan ga ie no soji o shimashita ka.”
“(It) is really clean. Did you and your father clean the house?”

B Tvwnwz, b=l (Z32) Z£5L0% LILr.]

“lie, watashi (dake ga) s6ji o shimashita.”
“No, only I cleaned.”

1 200 2 N 3 1371 4 7=iFi3
dake ga ga dake wa dake dake ha

The correct answer is #2- HfELF .

Answers 1 and 4 are the only answers that have proper form. In the sentence above, we need to use

the 7' particle because we are talking specifically about one and only one person doing it.

Other Answers

H7Z1F and 137217 - You cannot use the 3 or 7' particles before 721} . You can use the |2 and ¥
particles though.

7Z1$13 — We can use /1713 only in situations that we are being contrastive.

INEFIE bTNLNWT (X0,
Kore dake wa wasurenaide kudasai.
Just don’t forget this. (As for other things, you can forget them.)
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